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1/18 (#1)



AKARBEICH T HBGREREFR

ek : ;F/K A 2-8-1

DF3EE
Bi5E B - I 5 45 ARBATALZANEBE) | gy n %
5cm 50¢m 100¢m
gt ilvER (L) 0.09 0.09 — PA-1000
OB ERIZFR 0.08 0.08 — PA-1000
1A EN |OERERLR(L) 0.05 0.06 — PA-1000
@ETHIG ($H%) 0.07 0.07 — PA-1000
i 0.05 0.05 — PA-1000
Ot opilvER (L) 0.06 0.06 — PA-1000
QOIBERIGFR 0.10 0.07 — PA-1000
9/6(A)EY |@EREmME(L) 0.06 0.05 — PA-1000
DETE 5 (S 0.08 0.08 — PA-1000
w15 0.05 0.05 — PA-1000
2/18 (A1)



AKARBEICH T HBGREREFR

ek : ;F/K A 2-8-1

SM2EE
Bi5E B - I 5 45 AR (ATAY—AREE) | n %
5cm 50cm 100¢m
gt ilvER (L) 0.08 0.09 — PA-1000
OB ERIZFR 0.10 0.10 — PA-1000
1T(AEN |OERERLR(L) 0.06 0.07 — PA-1000
@ETHIG ($H%) 0.07 0.08 — PA-1000
b5 0.06 0.07 — PA-1000
Ot opilvER (L) 0.06 0.06 — PA-1000
QOIBERIGFR 0.10 0.09 — PA-1000
91 EN  |OERERER (L) 0.05 0.06 — PA-1000
DETE 5 (S 0.06 0.07 — PA-1000
w15 0.04 0.05 — PA-1000
ERL31ERE
AT H- KR T ARB(TATALZANEBE) | s =
5cm 50¢m 100c¢m
gt opilvER (L) 0.09 0.09 — PA-1000
QIBERIGAT 0.09 0.10 — PA-1000
3/2(A)EY |GEERMSR(L) 0.06 0.06 — PA-1000
DETE 5 (SH%) 0.09 0.10 — PA-1000
w15 0.07 0.07 — PA-1000
Ot ehiER (L) 0.08 0.09 — PA-1000
QB ERI5 T 0.09 0.09 — PA-1000
92(A)EN |OERERER (L) 0.06 0.06 — PA-1000
@EIHE 5 (%) 0.08 0.06 — PA-1000
Wi 0.06 0.06 — PA-1000
3/18 (A1)



AKARBEICH T HBGREREFR

ek : ;F/K A 2-8-1

T AL 304E B
Bi5E B - I 5 45 AR (ATAY—AREE) | n %
5cm 50cm 100¢m
gt ilvER (L) 0.09 0.08 — PA-1000
OB ERIZFR 0.09 0.09 — PA-1000
1(EEN  |OERERL (L) 0.05 0.06 — PA-1000
@ETHIG ($H%) 0.07 0.07 — PA-1000
i 0.06 0.06 — PA-1000
Ot opilvER (L) 0.08 0.08 — PA-1000
QOIBERIGFR 0.09 0.11 — PA-1000
95K EN  |OERERER(L) 0.06 0.05 — PA-1000
DETE 5 (S 0.08 0.07 — PA-1000
w15 0.07 0.07 — PA-1000
FERL2945F
AT H- KR T ARB(TATALZANEBE) | s =
5cm 50¢m 100c¢m
gt opilvER (L) 0.07 0.07 — PA-1000
QIBERIGAT 0.09 0.08 — PA-1000
M(RNEY |COEERMSR(L) 0.07 0.07 — PA-1000
DETE 5 (SH%) 0.08 0.07 — PA-1000
w15 0.07 0.07 — PA-1000
Ot ehiER (L) 0.10 0.10 — PA-1000
QB ERI5 T 0.09 0.12 — PA-1000
9/1(BEY |GEERMIB(L) 0.06 0.07 — PA-1000
@EIHE 5 (%) 0.07 0.08 — PA-1000
Wi 0.07 0.07 — PA-1000
4/18 (A1)



AKARBEICH T HBGREREFR

ek : ;F/K A 2-8-1

T A 284F B
Bi5E B - I 5 45 AR (ATAY—AREE) | n %
5cm 50cm 100cm
gt ilvER (L) 0.11 0.11 — PA-1000
OB ERIZFR 0.11 0.11 — PA-1000
/1K EN  |OERERLR (L) 0.07 0.07 — PA-1000
@ETHIG ($H%) 0.09 0.09 — PA-1000
b5 0.08 0.07 — PA-1000
Ot opilvER (L) 0.12 0.11 — PA-1000
QOIBERIGFR 0.12 0.12 — PA-1000
9/1(R)EN |OERERER(L) 0.08 0.07 — PA-1000
DETE 5 (S 0.08 0.08 — PA-1000
w15 0.07 0.07 — PA-1000
FR2TEE
AT H- KR T ARB(TATALZANEBE) | s =
5cm 50¢m 100c¢m
gt opilvER (L) 0.08 0.11 — PA-1000
QIBERIGAT 0.10 0.15 — PA-1000
/1R EN  |OERERLR (L) 0.05 0.07 — PA-1000
DETE 5 (SH%) 0.08 0.09 — PA-1000
w15 0.06 0.08 — PA-1000
Ot ehiER (L) 0.10 0.11 — PA-1000
QB ERI5 T 0.13 0.14 — PA-1000
/1R EN  |OERERER (L) 0.06 0.07 — PA-1000
@EIHE 5 (%) 0.10 0.09 — PA-1000
Wi 0.05 0.06 — PA-1000
5/18 (A1)



AKARBEICH T HBGREREFR

ek : ;F/K A 2-8-1

TR 264E
P Bl ARE(IATOY—ANEEER) | gyne i
5¢m 50cm 100cm

Dt iER (L) 0.13 0.12 — PA-1000
QIR IZFT 0.11 0.16 — PA-1000

3/2(RA)EN |OEERMLH(L) 0.06 0.07 — PA-1000
@ETEHIG ($H%) 0.09 0.10 — PA-1000
iz 0.08 0.09 — PA-1000
Ot ER (L) 0.12 0.13 — PA-1000
QBRI 0.09 0.15 — PA-1000

12720 N |OEERES (L) 0.06 0.08 — PA-1000
@ETEH 5 (%) 0.09 0.10 — PA-1000
ibis 0.09 0.09 — PA-1000
Ot ER (1) 0.14 0.13 — PA-1000
QIBERIGFT 0.09 0.12 — PA-1000

92N |OEERLE(L) 0.09 0.08 — PA-1000
@ETEH 15 (&h%) 0.12 0.11 — PA-1000
Wiz 0.09 0.08 — PA-1000
Ot ER (1) 0.12 0.12 — PA-1000
QBT 0.10 0.13 — PA-1000

6/2(RA)EN |OEERESS(L) 0.06 0.06 — PA-1000
DETE 5 (%) 0.09 0.09 — PA-1000
15 0.07 0.07 — PA-1000
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AKORBERICE ITOMETHRERERLR

A Bk O 2-8-1

TR 254E B
— —— BIEME (A0 —AN)LER) —
BIE B - K 1% B #h 5 > o ST BIEEF =
gt ER (1) 0.14 0.13 — PA-1000
QIEERIZFT 0. 07 0. 11 — PA-1000
3/10(A)EN |QEERMS (L) 0. 06 0. 07 — PA-1000
@ETE I (F%) 0. 09 0. 11 — PA-1000
fibis 0. 08 0. 08 — PA-1000
O L ER (1) 0.12 0.13 — PA-1000
QIEERIZFT 0.08 0.12 — PA-1000
2/7(®)ENh  (QEERE (L) 0. 07 0. 09 — PA-1000
@ELE 5 (F%) 0. 09 0. 11 — PA-1000
iz 0. 07 0. 08 — PA-1000
O L ER (1) 0.13 0.14 — PA-1000
- QIEERIZFT 0.08 0. 11 — PA-1000
1/?2%8%%& EREmRER (L) 0. 06 0.08 — PA-1000
@ELE 5 (FH%) 0. 11 0.10 — PA-1000
i 0.10 0. 11 — PA-1000
Ot ER (1) 0. 11 0.12 — PA-1000
QIEERIZFT 0. 09 0. 11 — PA-1000
12/5(R)EN (QEERFE (L) 0. 07 0. 08 — PA-1000
@ELE 5 (F%) 0.10 0. 11 — PA-1000
i 0. 09 0. 11 — PA-1000
7/18 (F1)



AKORBERICE ITOMETHRERERLR

A Bk O 2-8-1

TR 254E B
— —— BIEME (A0 —AN)LER) —
BIE B - K 1% B #h 5 > o ST BIEEF wE
gt ER (1) 0.19 0.15 — PA-1000
QIEERIZFT 0. 09 0.12 — PA-1000
1111 (A) N (QEERE (L) 0. 07 0. 08 — PA-1000
@ETE I (F%) 0. 11 0. 11 — PA-1000
fibis 0.12 0. 11 — PA-1000
O L ER (1) 0. 11 0.13 — PA-1000
QIEERIZFT 0. 07 0. 11 — PA-1000
10790K) BEh |QEERE (L) 0. 07 0. 09 — PA-1000
@ELE 5 (F%) 0.10 0. 11 — PA-1000
iz 0. 08 0.10 — PA-1000
O L ER (1) 0.15 0. 21 — PA-1000
QIEERIZFT 0. 09 0. 15 — PA-1000
9/ 12(K)EN |QEERER (L) 0. 09 1.14 — PA-1000
@ELE 5 (FH%) 0. 11 0.15 — PA-1000
whi5 0. 11 0.13 — PA-1000
Ot ER (1) 0.15 0. 21 — PA-1000
QIEERIZFT 0. 09 0. 15 — PA-1000
8/8(R)Eh |QEEME (L) 0. 09 1.14 — PA-1000
@ELE 5 (F%) 0. 11 0.15 — PA-1000
i 0. 11 0.13 — PA-1000
Ot i ER (L) 0.16 0. 14 — PA-1000
QBRI 0. 09 0. 11 — PA-1000
778(A)EN  (QEERE (L) 0. 08 0. 09 — PA-1000
@ETE 15 (FH) 0. 11 0.10 — PA-1000
i5 0. 11 0.10 — PA-1000
8/18 (F1)



AKORBERICE ITOMETHRERERLR

A Bk O 2-8-1

SRR 254E B
— — BIEE (RO —XN)LAER) —
HITE B - Xz B #h 5 > o ST BIE 2R wE
Dt dilER (L) 0.14 0.15 — PA-1000
QBRI 0. 08 0. 11 — PA-1000
6/7(&)EY |QEEMS(L) 0. 07 0. 08 — PA-1000
@ETEHI5 (%) 0. 11 0.12 — PA-1000
hi5 0. 10 0. 11 — PA-1000
Ot ER (1) 0.15 0.14 — PA-1000
QIS 0. 08 0.12 — PA-1000
5721 (K)EN (QEEmRE (L) 0. 08 0. 09 — PA-1000
@ETEH 5 (%) 0.12 0. 11 — PA-1000
iz 0. 11 0. 10 — PA-1000
Ot ER (1) 0.17 0.15 — PA-1000
QBRI 0. 09 0.12 — PA-1000
418(K)EN |QEEREH (L) 0. 07 0. 08 — PA-1000
@ETEHI5 (S 0.14 0.12 — PA-1000
whi5 0.13 0. 11 — PA-1000
9/18 (Fa1)
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BAKORBEICES TS RERERR

A Bk O 2-8-1

RR245EE
— — BIEE (R4 —N)LAER .
BIE B - K R B B ol AIER e
5cm 50¢cm 100cm
1FFHN(ER) — 0. 10 0. 10 PA-1000
— Zsrgia /i _ _
3/15&) Wh 1F‘ ﬁ{fﬁﬁi(im) 0. 10 0. 11 PA-1000
2FIEELE (BA) — 0. 11 0. 10 PA-1000
F=AIFIZ(EA) — 0. 08 0. 09 PA-1000
2FIEELE (BA) — 0. 09 0. 10 PA-1000
REI—F—(F — . . -
2158 T 2FRZEq j (BA) 0.10 0. 11 PA-1000
1FFHN(ER) — 0. 11 0. 11 PA-1000
1F2LL(ZERA) — 0.10 0. 11 PA-1000
Ot hLER (1) 0. 15 0.14 — PA-1000
Qb5 0.12 0. 11 — PA-1000
2/8(F) Bh
: QEEmER (L) 0. 10 0. 10 — PA-1000
@ETEIG (FH%E) 0.14 0.14 — PA-1000
F=AIFIE(ERA) — 0. 09 0. 09 PA-1000
L) (== _ _
8E) B 2FU$1:>)(§|7~1)* _ 0. 08 0. 09 PA-1000
IFF YA —BREE(ERN) — 0.10 0. 11 PA-1000
1FRBE(ERN) — 0. 11 0. 11 PA-1000
Ot rhLER (1) 0.19 0.16 — PA-1000
R 254 Qb5 0.12 0. 11 — PA-1000
1/11(2) Bh [@EE"L (L) 0.14 0.12 — PA-1000
@ETEI5 (FH%) 0. 09 0.10 — PA-1000
11/18 (#1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

RR245EE
— — BIEE (R4 —N)LAER .
AE R - X% B = AEE (470> ol HE 3= e
5cm 50cm 100¢cm
2FR—IL (ER) — 0. 11 0. 11 PA-1000
Lk ErL Lje (= _ _

12/130K) Eh 2FBEEXLE%H{1§(2W) 0. 11 0.10 PA-1000
1FDOKLE(ZER) — 0. 10 0.10 PA-1000
1FDIXAH (EWN) — 0. 08 0. 07 PA-1000
Ot hLER (1) 0. 15 0. 15 — PA-1000
Qb5 0.10 0. 11 — PA-1000

12/7(%) BEh
: QEEmER (L) 0.12 0.12 — PA-1000
@ETEIG (FH) 0. 14 0.13 — PA-1000
FOEDLY (ERA) — 0. 08 0. 08 PA-1000
119(&) BY ZFﬁlﬁké(éﬁlﬂL — 0.10 0. 11 PA-1000
IF—EREE(ERN) — 0. 09 0.10 PA-1000
1FRBE(ERN) — 0.10 0.10 PA-1000
Ot hLER (L) 0. 15 0. 15 — PA-1000
Qw15 0.10 0. 10 — PA-1000

11/13CK) BEHL
" lomEEmLs () 0. 10 0. 11 — PA-1000
@ETEIG (FH%E) 0. 15 0.13 — PA-1000

12/18 (1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

R4
gy = gyl = AEE (X170 —N)LhEE) ;
Al = KA AlEH S Bl5E
Al7E B - K% Bl 7€ 1t e S — Bl 7E 2% HZE

F=AIFIZ(ERA) — 0. 08 0. 07 PA-1000
2FOEDHY (ERA) — 0. 08 0. 07 PA-1000

10/12(%) B
() IF—RBREE(EN) — 0. 09 0. 09 PA-1000
1FLBH (ZERN) — 0. 09 0.10 PA-1000
Ot ehLER (L) 0.14 0. 16 — PA-1000
Q15 0.17 0.14 — PA-1000

10/10 i
S O T rIED 0. 10 0. 11 — PA—1000
@ETEIG (FE) 0. 15 0.12 — PA-1000
1FLBE(ERN) — 0. 09 0.10 PA-1000
1FERT (EA) — 0.10 0. 09 PA-1000

9/24(%)
(&) Wh FF-AIEIFE(ER) — 0. 06 0. 09 PA-1000
2F58 (EA) — 0. 09 0. 09 PA-1000
Ot ehLER (L) 0.17 0. 16 — PA-1000
Q15 0.19 0.16 — PA-1000

9/7(£) I
®) B EEmH©) 0. 09 0. 10 — PA-1000
@ETEIG (FH%) 0. 21 0.14 — PA-1000
1FLBE(ERN) — 0.10 0. 11 PA-1000
1FERT (EA) — 0. 09 0.10 PA-1000

8/13 i3
(R) #h F=AIFIZ(EA) — 0. 07 0. 08 PA-1000
2F58 (W) — 0.10 0. 09 PA-1000
DEhsth i ER (1) 0. 16 0. 14 — PA-1000
Q5 0.17 0.14 — PA-1000

8/8 i
0K B EEmES (D) 0. 10 0. 11 — PA-1000
@ETEI5 (FHE) 0.17 0.15 — PA-1000

13/18 (#1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

RR245EE
. . HAIEE (M40 —X )L EE) .
BIE R - XA B 7E 3h 25 . AlE
/,\JIEE 3&1; /,‘]/Eiﬁ’nm 5em 50cm 100cm /»IE%% ﬁ%%
1FLBH(ERN) — 0.10 0.10 PA-1000
- 1FERT (EA) — 0. 08 0. 08 PA-1000
F) =L
7/13(&) EY 2FER T (EA) — 0. 08 0. 10 PA-1000
2QFFh RAR—)L (ER) — 0. 08 0. 09 PA-1000
Ot chLER (1) 0.17 0.17 — PA-1000
Q15 0. 21 0.17 — PA-1000
E
V8(R) B I R (D) 0.10 0.10 — PA-1000
@ETEIZ (FHE) 0. 20 0. 15 — PA-1000
1FLBE(ERN) — 0. 07 0. 07 PA-1000
. 1FERTF (EN) — 0. 10 0. 10 PA-1000
6/200K) BN b (=m) - 0.10 0.10 PA-1000
2FHEBEE () — 0. 09 0. 09 PA-1000
Ot chLER (1) 0. 20 0.18 — PA-1000
Qb5 0. 20 0. 16 — PA-1000
£
6/18(R) Bt o mEma (D 0. 09 0.10 — PA-1000
@ETEIG (FHEE) 0.18 0. 16 — PA-1000
1FRBEE(ERN) — 0. 09 0. 11 PA-1000
- 1FERTF (EN) — 0. 09 0. 06 PA-1000
5/21(R) BN 2FER T (EA) — 0. 08 0. 07 PA-1000
2F R EE (BN — 0.10 0. 11 PA-1000
Ot ehER (£) 0. 16 0. 20 — PA-1000 DD #5816 H BIE
Qw15 0.18 0. 16 — PA-1000
=%
@EFEAL B (Sh%) 0.18 0.16 — PA-1000

14/18 (#1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

K23~ 244F
e e BAIEE (XA —XN)LNER) .
pil KA BIEH = 3| E
/,EIIE H 9&1; /,E\IIF_ ‘H_1, 5o 50cm 100¢m ﬂ]ﬂi%& 1%%
IF—EREE(ERN) — 0.10 0.10 PA-1000
- 1FDIXA (ERA) — 0. 07 0. 08 PA-1000
417(K) =L
(%) / FF=AIZITH (ERN) — 0. 09 0. 09 PA-1000
2FHEEE () — 0.10 0.10 PA-1000
Ot ehLER (L) 0. 20 0. 19 — PA-1000
= |25 0. 20 0.17 — PA-1000
4170K) =L
() &Y QEERER (1) 0.12 0.12 — PA-1000
@EREILER (ShLE) 0. 21 0.18 — PA-1000
IF—EREE(ERN) — 0. 09 0. 09 PA-1000
1FERT (EA) — 0. 09 0. 08 PA-1000
3.16(2) B
(&) Wh 2F = A IEIFHA (ER) — 0. 08 0. 08 PA-1000
2FHEBEE () — 0. 09 0. 09 PA-1000
DEhith i ER (1) 0.19 0.18 — PA-1000
Q15 0. 21 0.18 — PA-1000
316(2) BB
&) B EEmH D) 0 13 0. 11 — PA—1000
@EREIL SR (Sh%) 0. 20 0.17 — PA-1000
1FLBE(ERN) — 0.10 0. 09 PA-1000
1FERT (EA) — 0.10 0.10 PA-1000
2/17(2) B
(&) Bh 2F = A IEIFHA (ER) — 0. 08 0. 07 PA-1000
2FHLH (EA) — 0. 07 0. 07 PA-1000
DEhsth i ER (1) — 0. 19 0.17 PA-1000
Q5 0. 21 0.18 — PA-1000
210(&) B
) B S EEER @ — 0 14 — PA-1000
@EIREL SR (Sh%E) — 0.18 — PA-1000

15/18 (#1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

T R234EFE
AEE X A ARMATB—ZNIER) ] g %
5cm 50c¢m 100cm
gt ER (1) — 0.19 0.17 PA-1000
= |25 0. 20 0.16 — PA-1000
172R) R CEREmER (L) — 0. 11 — PA-1000
@EFEE (FHL) — 0.19 — PA-1000
1F%BE (EN) — 0.10 0.10 PA-1000
TR 24%E 1FERTF (EN) — 0. 08 0. 09 PA-1000
119(8) & oF-AlFIR4E (ER) — 0. 07 0. 08 PA-1000
2FELLHH (EA) — 0. 09 0. 08 PA-1000
Bt ER (L) — 0.16 0. 15 PA-1000
fibis 0.16 — — PA-1000
127200K) BEh | KEEER (L) — 0. 16 — PA-1000
PR AMEAA (L) — 0.18 — PA-1000
2K HEAA (1) — 0. 25 — PA-1000
FOKI(ZER) — 0. 07 — PA-1000
., |NFXE(ER) — 0.10 — PA-1000
R R (=) —_ 0. 08 — PA-1000
2QFRTAIL(ERA) — 0. 09 — PA-1000
H¥ERBYET — 0.17 — PA-1000
11.7220K) BBh |EERRIBE KM — 0.14 — PA-1000
IF PR {8 — 0. 22 — PA-1000
2(A) B 1FORERZE (EN) — 0. 07 — PA-1000
2R E (BN) — 0.10 — PA-1000
16/18 (F1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

FRR234ERE
gy = gyl = AEE (X170 —N)LhEE) ;
SHi = KA Bl 5E H#h = Bl5E
/,EIIE H 951; /,E\IIF_ ‘H_1, 5o 50cm 100¢m ﬂ]ﬂi%& 1%%
= |EhEOER (L) — 0.18 0.18 PA-1000
11./14 £
(A) ) fbi5 0.16 — — PA-1000
i DER (L) — 0. 20 0.19 PA-1000
10726 (7K) B&
(k) Bn W5 0.13 — — PA-1000
= | ER (L) — 0. 21 0.19 PA-1000
10.719(k) L
() ) fbi5 0.14 — — PA-1000
1FORRIRZE (EWN) — 0. 09 — PA-1000
10714(%) BN |2FEE=(ER) — 0.10 — PA-1000
EERESEFMAIVEE — 0. 26 — PA-1000
b ER (L) — 0. 23 0. 21 PA-1000
10.712(7K) BE
(k) Hn W5 0.13 — — PA-1000
- o ER () — 0. 20 0.18 PA-1000
1076 =l
/8(F) / b5 0.12 — — PA-1000
b ER (L) — 0. 22 0. 20 PA-1000
9,728 {5
/280K) Bn w15 0. 11 — — PA-1000
b ER (L) — 0. 21 0.18 PA-1000
b5 0.12 — — PA-1000
9.722(K) 2Y |1FoEBE=(ER) — 0. 08 — PA-1000
2P E (B A) — 0. 11 — PA-1000
BERESEMAUEE — 0. 23 — PA-1000
b ER (L) — 0. 21 0.19 PA-1000
9./14(7k) BEn
(k) B fibi5 0.16 — — PA-1000 |9A10BIZHMODANEZEZLELT-
b b ER (1) — 0. 21 0.18 PA-1000
9.7 5
k) B Wig 0. 37 — _ PA-1000

17/18

(F1)



BAKORBEICES TS RERERR

A Bk O 2-8-1

FRR234ERE
gy = gyl = AEE (X170 —N)LhEE) ;
SHi = KA Bl 5E H#h = Bl5E
/,EIIE H 951; /,E\IIF_ ‘H_1, 5o 50cm 100¢m ﬂ]ﬂi%& 1%%
O ER (L) — 0.17 0.16 PA-1000
8.730(K) B
/300K BRn Wig 0. 44 — — PA-1000
1FORRIRZE (EWN) — 0. 08 — PA-1000
8.729 =5
729(R) #h 2F ML (W) _ 0. 09 — PA-1000
o HER (L) — 0.18 0.17 PA-1000
8.724 =5
/240K BRn Wig 0. 39 — — PA-1000
Eh b ER () — 0. 20 0.18 PA-1000
8./17 =5
/170K ERn g 0. 60 — — PA-1000
Eh b ER (L) — 0. 21 0.19 PA-1000
8./10 =5
/100K) BRn Wig 0. 58 — — PA-1000
= Eh b ER (L) — 0. 20 0.19 PA-1000
8.3 £l
30K &Y fihi5 0. 60 — — PA-1000
= Eh b ER (L) — 0.19 0.18 PA-1000
7./217 £l
7210k &Y b5 0. 44 — — PA-1000
7.72000k) Y |t ER(E) — 0. 21 0.19 PA-1000
7120k) Bh |ButhdibER (1) — 0. 33 0. 25 RDS-30
7.50K) Y Bt (L) — 0. 24 0. 25 RDS-30
6.28(:K) Y |EuhgLER (L) — 0. 30 0. 28 RDS-30
- B ER () — 0. 27 0. 28 RDS-30
6.721(k) 2L
s 2Y b5 0. 62 — — RDS-30
TR 234 B ER () — 0. 30 0. 22 RDS-30
6.7140:K) EY [phig 0. 53 — — RDS-30
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